
Cyp450 can oxidize all atoms found in drug molecules (which are mosly organic; 
C,O,N,F,Br,I… -but not Si-) and the atoms attached to these atoms.

      Carbon can be oxidized while its in 7 different forms:

Aromatic rings are electron rich system 
bc. they have pi-orbitals
CyP450 tries to attack the ortho 
position but there is steric hindrance, it 
tries meta position but still sterically 
hindered, so it attack the para position 
which is exposed and not sterically 
hindered 

*Lecture 15 (30th. July 2024)
- In this Lecture we will discuss the reactions done by mixed function oxidases
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* how do I know that epoxide has formed?

-Some epoxide is eliminated in the urine
,
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of the administereddrug is in urine in the form of epoxide
* Epoxide is super unstable why?
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About this interaction:
1- yield = 50% ( ءيطب لاو عيرس شم )
2- if there is no R-group on para position >> para hydroxylation

 double bond oxidation لمع %50 انع نوكيب
aromatic oxidation لمع %50 و

3- surrounded by aromatic ring (at least one) (electron rich 
double bond)

)oleic acid لا يز( fatty acids لا يز isolated نوكت ام

· which of these rings will be oxidized ?
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 yield > 95% of the administered dose 
 first pass “very quick ريصب بلغلأابو

metabolism” 

 هلريصب دبكلاع لخديو portal vein لا ربعي ام لوأ
first pass metabolism.

 لمعنو ةعرجلا ديزن رطضنب ةلكشلما ياه ىدافتنل
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 double bond oxidation ىلا علطتب ام benzylic carbon يدنع ناك ول
 لمعب oxidizing system لاو يشإ عرسأ اهنلإ ،aromatic oxidation لاوو

oxidation ينات ناكم يأ كرتب عيرس ناكمع لغتشا اذإ( ةدحو ةرم(

 Cl very لا هنلإو ،benzyl carbon لا لدب Cl انيطح
electrophilic/electronigative atom اهتانورتكلا يطعتب ام 

cytochrome P450 لل
 benzylic يدنع ام هنلإ oxidation لل resistant بكرلما داه

carbon ىطعنيبو مسجلاب لوّطبو BID حبصلا ةرم مويلاب ينترم 
 شم سب ةينات نكامأب metabolism هلريصي نكمم ،ءاسلما ةرمو
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